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The Learning App Factorisation

1. Find the common factors of the given terms.
(i) 12x, 36

(i) 2y, 22xy

(iii) 14 pq, 28p°q?

(iv) 2x, 3x2, 4

(v) 6 abc, 24ab?, 12ah

(vi) 16 x3, — 4x?, 32 x

(vii) 10 pq, 20qr, 30 rp

(viii) 3xzy? , 10x3y? , 6x2y?z

Solution:

(i) Factors of 12x and 36

12x = 2x2%3x%X

36 = 2x2x3%3

Common factors of 12x and 36 are 2, 2, 3
and , 2x2x3 =12

(ii) Factors of 2y and 22xy

2y = 2xy

22Xy = 2x11xxxy

Common factors of 2y and 22xy are 2, y
and ,2xy = 2y

(iii) Factors of 14pg and 28p*g?

14pq = 2X7xpxq

28p20)2 = 2X2XTXPXPXIXq

Common factors of 14 pg and 28 p2gzare 2,7 ,p, q

and, 2x7xpxq = 14pq
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(iv) Factors of 2x, 3x?and 4

2X = 2XX

3X?= 3XXXX

4 =2x2

Common factors of 2x, 3x?and 4 is 1.

(v) Factors of 6abc, 24ab? and 12a%h

6abc = 2x3xaxbxc

24ab? = 2x2x2x3%xaxbxb

12 a’b = 2x2x3xaxaxb

Common factors of 6 abc, 24ab’and 12a®b are 2, 3, a, b
and, 2x3xaxb = 6ab

(vi) Factors of 16x3, -4x?and 32x

16 X3= 2X2X2X2XXXXXX

— 42 = -1X2X2XXXX

32X = 2X2X2X2X2XX

Common factors of 16 x3, — 4x2and 32x are 2,2, X
and, 2x2xx = 4x

(vii) Factors of 10 pg, 20qr and 30rp

10 pg = 2x5xpxq

20qr = 2x2x5xqxr

30rp= 2x3x5xrxp

Common factors of 10 pq, 20qr and 30rp are 2, 5
and, 2x5 =10

(viii) Factors of 3x2y?, 10x3y2 and 6x2y?z

3x2y3 = 3xxxxxyxyxy

10x3y? = 2X5XXXXXXXYXY

BX2Y2Z = IX2XXXXXYXYXZ
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Common factors of 3x2y?, 10x%y? and 6x2y?z are x?, y?

and, x2xy? = x2y?

2.Factorise the following expressions.

(i) 7x—42

(i) 6p-12q

(iii) 7a+ 14a

(iv) -16z+20 z2

(v) 20IPm+30alm
(vi) 5x2y-15xy?

(vii) 10az-15b2+20c?
(viii) -4a2+4ab—4 ca
(ix) x2yz+xy?2z +Xxyz?
(x) axzy+bxy*+cxyz

Solution:
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(/) Tx=1T=x

42 =2« 3x 7

The common factor 5 7

S Tx 42 =(Tux)—-(2x3xT)=T{x- 6a)

(fi) bp=2x3up

12g =2x%x2x3xqg

The common factors are 2 and 3

Ep-lReg=(2x3xp)-(2x2xdng)

=2x3|lp-(2=4g)

=6(p—-2¢q)

H.I'i]Tu!:T:u:ﬂ:-:ﬂ

Idag =2xTxa

The common factors are 7and a
?u:+]4u:1?xﬂnu;+{2x?3dl

=Txa[a+2]=Ta (a+2)

() I6z=2%2x2u2x=

Wz =2x2xSxzxzx=

The common factors are 2, 2, and 2

o= 1oz 1202]:—Elxlxl:-:21:]+:2)<2:<5:-::)<:x:r

=(2x2xz) [—(2x2)+{(3xzx =)

= 4=2(-4+5=7)

(v) 20°m =2x2xS5xixlxm
alm =2x3xSxaxlxm
The common factors are 2, 5, /and m
200°m +30alm = (2x2xSxlixlxm)+(2x3xSxaxlxm)
=(2x5xixm)[(Zx1)+ (3xa)

10im (21 + 3a)

(\-AIS.t:_r:Sxxx,rx,v
ISxy  =3xSxxxyxy
The ¢common factors are 5, x, and vy
SK:_"—ISI,\‘: SSxxxxx yP)-(IxSxxxyxy)

=53xxx ¥x=(3xy)

=Sxy(x~-3y)
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(vii) 10a*-15b*+20c?

10a2= 2x5xaxa

— 15h2= -1x3%x5xbxb

20c? = 2x2%x5xcXC

Common factor of 10 a2, 15b? and 20c? is 5
10a2-15b2+20c? = 5(2a>-3b*+4c?)

(viii) — 4a2+4ab-4ca

—4az = -1x2x2xaxa

4ab = 2x2xaxb

—4ca = -1x2%x2xcxa

Common factor of —4a2, 4ab , —4caare 2,2, ai.e. 4a
So,

— 4a*+4 ab-4 ca = 4a(-atb-c)

(iX) x2yz+xy?z+xyz?

X2YZ = XXXXYXZ

XY?Z = XXYXYXZ

XYZ2 = XXYXZXZ

Common factor of x?yz , xy’z and xyz2 are X, Y, Z i.e. Xyz
Now, X?yz+Xy?z+xyz?= Xyz(X+y+2)

(X) axzy+bxyz+cxyz

axzy = axxXxxxy

bxy?= bxxxyxy

CXYZ = CXXXYXZ

Common factors of a x2y ,bxyzand cxyz are xy
Now, ax?y+bxy?+cxyz = xy(ax+by+cz)

3. Factorise.

(i) x2+xy+8x+8y

NCERT Solutions for Class 8 Maths Chapter 14 -
Factorisation
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(if) 15xy—6x+5y—2
(iii) ax+bx-ay-by
(iv) 15pg+15+9qg+25p
(V) z=7+7xy—xyz
Solution:

) X +xp +B8x+ By =xxx+ax y+Bxx+Bny
= x{x+ P)+B(x+¥)

= (x+ ») {x+8)

(i) I —-06x+5y—2=3FIxdxrx y=-Ix2ux+5xy -2
=3x(5y=-27+1 (5y - 12)

= (5p=2){3x+1)

(i) ax + by —ay -y =dxx+bix—axy-hxy
= x{a+b)-1{a+h)

={a'+b) (x=¥)

(iv) 15pg +15 +9g +25p=15pg +9g +25p+ 15
=3IxSx prxg+InIng+SxS p+Ins

=34 (3p+3)+5 (5p+3)

=(3p+3) (3g+ 5)

(v) z—=T+7p = ==2—2X pr=z=T+Txaxny
= =2 (1-x)—T7 (L=x)

=(l—2p) (=2=-7)
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1. Factorise the following expressions.

(i) a>+8a+16

(ii) p=10p+25

(iii) 25m>+30m+9
(iv) 49y>+84yz+3622
(V) 4x>-8x+4

(vi) 121b>-88bc+16c?

(vii) (I+m)>=4Im (Hint: Expand (I+m)? first)

(viii) a*+2azb?+b*

Solution:

(i) a>+8a+16

= ar+2x4xa+4e

= (atdy

Using the identity (x+y)? = x2+2xy+y?
(i) p=10p+25

= p-2x5xXp+57

= (p-5y

Using the identity (X-y)? = x2-2xy+y?
(iii) 25m>+30m+9

= (5m)*+2x5mx3+3?

= (5m+3)y

Using the identity (X+y)? = x>+2xy+y?
(iv) 49y>+84yz+362>
=(7y)+2x7yx6z+(62)

= (Ty+62)?
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Using the identity (X+y)? = x>+2xy+y?

(V) 4x—8x+4
= (2X)2-2x4x+22

= (2x-2)

Using the identity (X-y)? = x*-2xy+y?

(vi) 121b2-88bc+16c2
= (11b)-2x11bx4c+(4c):

= (11b-4c)?

Using the identity (X-y)? = x*-2xy+y?

NCERT Solutions for Class 8 Maths Chapter 14 -

(vii) (I+m)>-4lm (Hint: Expand (I+m)? first)

Expand (I+m)zusing the identity (x+y)? = x2+2xy+y?

(I+m)2-4lm = l2+mz+2Im-4Im

= H+m*2Im

= (I-m):

Using the identity (X-y)? = x*-2xy+y?

(viii) a*+2ah?+b?
= (az)2+2xa2xb2+(bz)z

= (a2+b2)2

Using the identity (x+y)? = x2+2xy+y?

2. Factorise.

(i) 4p—9cr

(ii) 63a-112b?

(iii) 49x-36

(iv) 16x>-144x: differ
(v) (I+m)-(I-m)>

(vi) 9x2y>-16

(vii) (x=2xy+y?)-z*
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(viii) 25a-4b?+28bc—-49c?

Solution:
(i) 4p-9c
= (2p)-(30)?

= (2p-309)(2p+30q)

Using the identity x>-y2 = (x+y)(x-y)

(ii) 63a>-112b?
= 7(9a2 ~16b?)
= 7((3a)(4b))

= 7(3a+4b)(3a-4b)

Using the identity x-y2 = (X+y)(X-y)

(iii) 49x>-36
= (7x)? -6

= (7x+6)(7x—6)

Using the identity x>-y2 = (x+y)(X-y)

(iv) 16x>-144x®
= 16x3(x>-9)
= 16x3(x>-9)

= 16x3(x—-3)(x+3)

Using the identity x-y2 = (X+y)(X-y)

(v) (I+m)>-(I-my)>

= {(I+m)-(I-m)H{ (1 +m)+(1-m)}
Using the identity x2-y2 = (x+y)(X-y)

= (I+m-I+m)(I+m+Il-m)
= (2m)(2l)
=4 ml

(vi) 9x?y>-16

NCERT Solutions for Class 8 Maths Chapter 14 -
Factorisation
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= (3xy)-4°

= (3xy—4)(3xy+4)

Using the identity x>-y2 = (x+y)(x-y)
(Vi) (x2-2xy+y?)-z2

= ()2

Using the identity (X-y)? = x>-2Xxy+y?
= {0-y)-ZHOx-y)+2}

= (x-y-2)(x-y+2)

Using the identity x-y2 = (X+y)(X-y)
(viii) 25a>—4b>+28bc—-49c¢?

= 25a>—(4b*-28bc+49c¢?)

= (5a)-{(2b)>-2(2b)(7c)+(7c)’}

= (5a)*(2b-7c)?

NCERT Solutions for Class 8 Maths Chapter 14 -

Using the identity x>-y2 = (X+y)(X-y) , we have

= (5a+2b-7c)(5a-2b+7c)
3. Factorise the expressions.
(i) ax2+bx

(ii) 7p+21q?

(i) 2x3+2xy2+2Xx22

(iv) am?+bm>+bn2+an?
(v) (Im+)+m+1

(Vi) y(y+2)+9(y+2)

(vii) 5y>—20y-8z+2yz
(viii) 10ab+4a+5b+2
(ix)6xy—4y+6-9x
Solution:

(i) axc+bx = x(ax+h)
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(i) 7p+21q2 = 7(p+3q)
(i) 2x+2Xy2+2X22 = 2X(Xe+y?+22)

(iv) amz+bmz+bnz+an?= mz(a+b)+n2(a+b) = (a+b)(mz+n?)
(v) (Im+)+m+1 = Im+m+l+1 = m(1+1)+(1+1) = (m+1)(1+1)
(Vi) y(y+2)+9(y+2) = (y+9)(y+2)

(vii) 5y—20y-8z+2yz = 5y(y-4)+2z(y-4) = (y-4)(5y+22)
(viii) 10ab+4a+5b+2 = 5b(2a+1)+2(2a+1) = (2a+1)(5b+2)
(ix) 6Xy-4y+6-9x = 6xy—9x—4y+6 = 3x(2y-3)-2(2y-3) = (2y-3)(3x-2)
4.Factorise.

(i) a—br

(ii) p-81

(iii) x~(y+2)*

(iv) x*~(x-2)*

(v) at—2arh*+b

Solution:

(i) a-br

= (@)-(b?)?

= (a-b?) (a2+b?)

= (a-b)@+b)(ax+b?)

(i) p-81

= (p?-(9)

= (p-9)(p*+9)

= (p>-3)(p*+9)

=(p-3)(p+3)(p*+9)

(iii) x~(y+2)* = (ey-[(y+2)

= {e-(y+2) H x+(y+2)%}

= {x~(y+2) (x+(y+2) Hx+(y+2)’}
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= (y-2)(x+y+2) O+ (y+2)}
(iv) x—(x-2)* = (e)-{0c2)

= (-2 e+ (x2)}

= {x-(xDHx(c2)} pe+(c2))

= 2(2x-z)( X2+x2-2Xz+2?)

= 2(2x-z)( 2x?-2Xz+2?)

(V) a*—2a%2+b* = (a%)2-2a2b?+(b?)?

= (a>-b?)?

= ((a-b)(at+b))’

=(a-by(a+by

5. Factorise the following expressions.
(i) p*+6p+8

(ii) g-10g+21

(iii) p>+6p-16

Solution:

(i) p>+6p+8

We observed that 8 = 4x2 and 4+2 = 6
p2+6p+8 can be written as pz+2p+4p+8
Taking Common terms, we get

p+6p+8 = p*+2p+4p+8 = p(p+2)+4(p+2)
Again, p+2 is common in both the terms.
= (p+2)(p+4)

This implies that p>+6p+8 = (p+2)(p+4)
(i) g>-10g+21

We observed that 21 = -7x-3 and -7+(-3) = -10
0>-109+21 = q>-39-7q+21

=09(a-3)-7(a-3)
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=(a-7)(a-3)

This implies that q2-10g+21 = (g-7)(g-3)
(iii) p>+6p-16

We observed that -16 = -2x8 and 8+(-2) = 6
p2+6p—16 = p~2p+8p-16

= p(p-2)+8(p-2)

= (p+8)(p-2)

So, p#6p-16 = (p+8)(p—2)
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EXERCISE 14.3 PAGE NO: 227
1. Carry out the following divisions.

(i) 28x* + 56x
(i) —36y° + 9y?

(iii) 66pQ2rs +~ 11qgr>
(iv) 34x3y3z® + 51xy?z?
(v) 12a%he + (- 6a°b?)
Solution:
()28x4 = 2X2XTXXXXXXXX
56X = 2X2X2XTXX
2X2XTXEAXXX XXX 3

x 1
28x4 + 56x = = =3
222 T 2N 2 2

.. —2X2ZKXIKIXYyXy XYy _
_26y3 = Oy2 = =.
(ii) =36y~ + 9y 3 % 3 Xyxy 4y

2x3 X111 xp xq *q X1 XV XT

(i) 86pg2rd = 11qr2 = = Bpqr

11 xq xr xr

2 K17 KX KX XX XY KV XV XE XZ X2

(iv) 34x3y3z3 = 51xy?z3 =

2
=2 yZ
3}{‘5IIr

IX1T7 XX XY XYV XKE XKE X2

8 a
(v) 122808 + (= Badbt) = 220X XBT_ 5 29

—2 %3 xa®xpt

2. Divide the given polynomial by the given monomial.
(1)(5x—6x) + 3x

(i) (3y*—4ys+5y*) + y
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(i) B(xey?zz+x2y°z2+X2y?2%)+ AX2y? 72
(iv) (x+2x2+3x) +2x

V) (Por—p°g) = po°

Solution:

(i) 37 —fx = ¥(5x - h)

) x{5x- 4] 1
(3% —-f8x)+Ix = ———=—(5x~-8)
ix 3

4 1

I T S T A o A Bt

i B Fl 'l .r“‘-]']'" _'i]': + 5} 4 2
(3y -4y +5y ey = - =3y —4y +5
¥
(did ) H{.'r!_l.-lz: + _1::_1-1:: B _rzli'::!ﬂ = HI:I'I':::[.TT v+ )
g e . TE. T 3.9 3-":.":::{1* ¥+ 2)
Blxy = +x"y =+ yp = jrdx pz = s =+ y+z)
4x vy =7

] 1 2
(]l x +2x +3x=x{x +2x+3)

i 2
5 2 T 2
{(x +2y +3x)+2x= = —{x + 2z + 3)
¥

vy p'ga"-p'a =pa’ @ -p")

(rlg" - ptqreple’ = —F!"‘]“’r,‘ - B e g
P g

3. Work out the following divisions.

(i) (10x-25) + 5

(ii) (10x-25) + (2x-5)

(iii) 10y(6y+21) + 5(2y+7)

(iv) 9x2y2(3z-24) + 27xy(z-8)

(v) 96abc(3a-12)(5b—30) + 144(a—4)(b-6)

Solution:

(i) (10x-25) + 5 = 5(2x-5)/5 = 2x-5

(ii) (10x-25) + (2x-5) = 5(2x-5)/( 2x-5) = 5

(iii) 10y(6y+21) + 5(2y+7) = 10yx3(2y+7)/5(2y+7) = 6y

(iv) 9x2y?(3z-24) + 27xy(z—8) = Ix2y2x3(z-8)/27xy(z-8) = xy
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96 abc x3(a-4)x5(b-6)

144(a-4) (b-6) = 10abc

(v) 96abc(3a —12) (5b—30) + 144(a—4)b — 6) =

4. Divide as directed.
(i) 5(2x+1)(3x+5)+ (2x+1)

(ii) 26xy(x+5)(y—4)+13x(y-4)

(iii) 52pqr(p+a)(q+r)(r+p) + 104pq(q+r)(r+p)
(iv) 20(y+4) (y>+5y+3) = 5(y+4)

(V) X(c+1) (x+2)(x+3) = X(x+1)

Solution:

5(2x+ 1) (3x + 1)

() S(2x+ L) (3x+ 5)+ (2x 4+ 1) =
(2x + 1)

= 5{3x +35)
2x 13 =xxyix+5)(y—4
13 x{y - 4)

(i) 20 (X +5)(y=4)=+=13x (p=4)=

_1_1.'{1'-:-5}
(i) 52 pgr (p+g)lg+r)ir+ p)+ 104 pg (g+r)ir+ p)

2x2x3xprgrrx{p+glxig+ricir+ p)

b :alw]:*xlpxq:-clq-l-r]xir* fon

1
=—rip+q)
el

()20 (¥ 4+ ) (¥ +3534+3) =2 x2xSx(y+ed)(y +35y4+73)

. fﬁ;"?ﬁhi_l'-l-‘-H“E}'_lI-5_‘I'13'|'
20 (y+A)(y +5p4+3)+5(y+4)=

Sx{y+ 4)
= —'H_!': + S+ 3)

x{x + 1) (x+2) (=4 3)

(viIix (x+ 1) [(x+2){x+FY 4+ x(x+1) =
xix+1)
={x + 2)(x+ 3)
5. Factorise the expressions and divide them as directed.
(i) (y+7y+10)=(y+5)
(i) (M=14m-32)+(m+2)
(iii) (5p>-25p+20)~+(p-1)

(iv) 4yz(z2+6z-16)+2y(z+8)
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(V) 5pa(p-g°)+2p(p+a)
(Vi) 12xy(9x—16y?)+4xy(3x+4y)
(vii) 39y3(50y>-98) + 26y2(5y+7)
Solution:
() (y*+7y+10)=(y+5)
First, solve the equation (y>+7y+10)
(y>+7y+10) = y>+2y+5y+10 = y(y+2)+5(y+2) = (y+2)(y+5)
Now, (y*+7y+10)+(y+5) = (y+2)(y+5)/(y+5) = y+2
(i) (m=14m-32)+ (m+2)
Solve for m>-14m-32, we have
m>-14m-32 = m>+2m-16m-32 = m(m+2)-16(m+2) = (m-16)(m+2)
Now, (m>=14m-32)+(m+2) = (m-16)(m+2)/(m+2) = m-16
(iii) (5p=25p+20)=(p-1)
Step 1: Take 5 common from the equation, 5p>~25p+20, we get
5p>-25p+20 = 5(p>-5p+4)
Step 2: Factorise p>-5p+4
=5p+4 = pp-4p+a = (p-1)(p-4)
Step 3: Solve original equation
(5p-25p+20)+(p-1) = 5(p-1)(p-4)/(p-1) = 5(p-4)
(iv) 4yz(z2 + 62-16)+ 2y(z+8)
Factorising z>+6z-16,
7>+62-16 = 7-2z+82-16 = (z-2)(z+8)
Now, 4yz(z>+6z-16) + 2y(z+8) = 4yz(z-2)(z+8)/2y(z+8) = 2z(z-2)
(V) Spa(p—ap) + 2p(p+q)
2~ can be written as (p—q)(p+q) using the identity.
5pq(p>—q?) + 2p(p+a) = Spa(p-a)(p+a)/2p(p+q) = 5q(p-a)/2
(vi) 12xy(9x>=16Yy?) + 4xy(3x+4y)

Factorisation
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Factorising 9x>-16y? , we have
9x- 16y = (3x)—(4y)? = (3x+Ay)(3x-4y) using the identity p-q¢ = (p-q)(p+q)
Now, 12xy(9x2—16Y?) + 4xy(3x+4y) = 12xy(3x+4y)(3x-4y) /4xy(3x+4y) = 3(3x-4y)

(vii) 39y3(50y>-98) + 26yx(5y+7)
st solve for 50y>-98, we have

50y2-98 = 2(25y>-49) = 2((5y)>—7?) = 2(5y-7)(5y+7)

Now, 39y*(50y2-98) = 26y2(5y+7) =

3 x13 xy*x 2(5y-7) (S5y +7)
2 x13xy?(5y+7)

= 3y(Sy =7)
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EXERCISE 14.4
1. 4(x-5) = 4x-5

Solution:

4(x-5)=4x —20#4x —5=RHS

The correct statement is 4(x-5) = 4x-20
2. X(3x+2) = 3x2+2

Solution:

LHS = x(3x+2) = 3x+2x # 3x?+2 = RHS
The correct solution is x(3x+2) = 3x2+2x
3. 2x+3y = bxy

Solution:

LHS=2x+3y#R. H. S

The correct statement is 2x+3y = 2x+3 y
4. X+2x+3X = 5X

Solution:

LHS = x+2x+3x = 6x # RHS

The correct statement is x+2x+3x = 6x
5. Sy+2y+y-7y =0

Solution:

LHS = by+2y+y-7y =y # RHS

The correct statement is Sy+2y+y—-7y =y
6. 3X+2X = 5x?

Solution:

LHS = 3x+2x = 5x # RHS

The correct statement is 3x+2x = 5x

7. (2X) H+4(2X)+7 = 2X°+8X+7

NCERT Solutions for Class 8 Maths Chapter 14 -
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Solution:

LHS = (2x)2+4(2x)+7 = 4x2+8x+7 # RHS

The correct statement is (2x) 2+4(2x)+7 = 4x2+8x+7

8. (2X) 2+5x = 4x+5x = 9x

Solution:

LHS = (2x)2+5x = 4x2+5x # 9x = RHS

The correct statement is(2x) 2+5x = 4x?+5x

9. (3x + 2)2 = 3xx+6x+4

Solution:

LHS = (3x+2)2 = (3X)2+22+2x2x3X = 9x*+4+12x # RHS

The correct statement is (3x + 2)2 = 9x2+4+12x

10. Substituting x =-3in

(a) x* + 5x + 4 gives (- 3)#+5(— 3)+4 = 9+2+4 = 15

(b) x2—5x + 4 gives (- 3)=5(-3)+4 =9-15+4 =-2

(c) x2 + 5x gives (— 3)2+5(-3) =-9-15=-24

Solution:

(a) Substituting x = — 3 in x2+5x+4, we have

X2+5x+4 = (— 3) 2+5(— 3)+4 = 9-15+4 = — 2. This is the correct answer.
(b) Substituting x = — 3 in x>-5x+4

X>—5x+4 = (-3)>-5(— 3)+4 = 9+15+4 = 28. This is the correct answer
(c) Substituting x = — 3 in x2+5x

X?+5x = (— 3)2+5(-3) = 9-15 = -6. This is the correct answer
11.(y-3)?=y>9

Solution:

LHS = (y-3)?, which is similar to (a—b)? identity, where (a—b)? = a>+b*-2ab
(y—3) = y+(3)2yx3 = y*+9 -6y # y*— 9 = RHS

The correct statement is (y-3)2=y? + 9 — 6y

Factorisation
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12. (z+5)2 = z2+25

Solution:

LHS = (z+5)?, which is similar to (a +b)? identity, where (a+b)2 = az+bz+2ab
(z+5)? = 22+5242x5%z = 22+25+10z # 22+25 = RHS
The correct statement is (z+5)2 = z2+25+10z

13. (2a+3b)(a—b) = 2a>-3b?

Solution:

LHS = (2a+3b)(a—b) = 2a(a—b)+3b(a-b)

= 2a2-2ab+3ab-3b?

= 2a*+ab-3b?

#2a>-3b? = RHS

The correct statement is (2a +3b)(a —b) = 2a+ab—3b?
14. (a+4)(a+2) = a*+8

Solution:

LHS = (a+4)(a+2) = a(a+2)+4(a+2)

= a>+2a+4a+8

= a*+6a+8

#a>+8 = RHS

The correct statement is (a+4)(a+2) = a>+6a+8

15. (a—4)(a-2) = a>-8

Solution:

LHS = (a4)(a-2) = a(a—2)-4(a-2)

= a>2a-4a+8

= a-6a+8

# a-8 = RHS

The correct statement is (a—4)(a—2) = a>-6a+8

16. 3x¥/3x2=0
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Solution:

LHS = 3x?/3x2=1# 0 =RHS

The correct statement is 3x?/3x? = 1

17. (3x+1)Bxe=1+1=2

Solution:

LHS = (3x2+1)/3x2 = (3x2/3x?)+(1/3%x?) = 1+(1/3x?) # 2 = RHS
The correct statement is (3x2+1)/3x? = 1+(1/3x?)

18. 3x/(3x+2) = %

Solution:

LHS = 3x/(3x+2) # 1/2 = RHS

The correct statement is 3x/(3x+2) = 3x/(3x+2)

19. 3/(4x+3) = 1/4x

Solution:

LHS = 3/(4x+3) # 1/4x

The correct statement is 3/(4x+3) = 3/(4x+3)

20. (4x+5)/4x =5

Solution:

LHS = (4x+5)/4x = 4x/4x + 5/4x = 1 + 5/4x # 5 = RHS

The correct statement is (4x+5)/4x = 1 + (5/4x)

7x+5
21. .

Solution:

=7X

LHS = (7x+5)/5 = (7x/5)+ 5/5 = (7x/5)+1 # 7x = RHS

The correct statement is (7x+5)/5 = (7x/5) +1

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

